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My grandmother last year. We all miss her a lot.

@ passed out @ passed over

@ passed away @ passed by

® passed on

Of2H CHEHE 2411 BIZHO| S0{717| 05 S =M. ( )

Kevin: I'm feeling a bit dizzy. | guess | should get some rest.

Jayden: Please do. You've been studying lately. You need a break!
@ all the time Q@ like crazy
® nonstop @ 24]7

® every now and then

otz 2HS AL SOl A AU2H O, ST X2 ML,

(1) After lunch, | took a nap for 10 minutes. ( )
(2) He knocked out during the test because he was bored. ( )
(3) I slept like a baby even though there was a storm outside. ( )

(4) She tossed and turned because she couldn’t stop thinking about the interview. (
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